



Filiala Mehedinți - Mehedinți Branch
www.ssmrmh.ro

If $x, y, z \in (0, \infty)$, $xyz = 1$ then:

$$x(x - 3(y + z))^2 + (3x - (y + z))^2(y + z) \geq 27$$

Proposed by Daniel Sitaru – Romania

Solution 1 by Ear Bunpheng - Phnom Penh – Cambodia

Solution 2 by Myagmarsuren Yadamsuren-Darkhan-Mongolia

Solution 1 by Ear Bunpheng - Phnom Penh – Cambodia

$$S = x(x - 3(y + z))^2 + (3x - (y + z))^2(y + z) \geq 27$$

Since $x, y, z \in (0, +\infty)$

By Cauchy: $x + y + z \geq 3\sqrt[3]{xyz}$

$$x + y + z \geq 3 + (xyz - 1)$$

$$\Rightarrow S \geq x(x - 3(3 - x))^2 + (3x - (3 - x))^2(y + z)$$

$$\geq x(4x - 9)^2 + (4x - 3)^2(3 - x)$$

expand all the factor.

$$\geq 81x - 72x^2 + 16x^3 + 27 - 72x + 4x^2 - 9x + 24x^2 - 16x^3 \geq 27$$

(True)

Solution 2 by Myagmarsuren Yadamsuren-Darkhan-Mongolia

$$\begin{aligned} & x(x^2 - 6x \cdot (y + z) + 9(y + z)^2) + \\ & + (y + z) \cdot (9x^2 - 6x \cdot (y + z) + (y + z)^2) = \\ & = x^3 + 3x^2 \cdot (y + z) + 3x(y + z)^2 + (y + z)^3 = \\ & = (x + y + z)^3 \geq (3\sqrt[3]{xyz})^3 = 27 \end{aligned}$$